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) 30,000,000 *98.92/100 29,676
Ostdd zel [HILH =2 HE(F
F0) 50,000,000& *98.92/100 49,460
OFHH DHOIS 15UUYY 52 SHF(F0F
o) 20,000,000 *98.92/100 19,784
O3t e otatel 259 L@ =2 FHI(FLUEO
) 30,000,000 *98.92/100 29,676
Ottt ME0IE s2 HE(FUEA)
30,000,000& *98.92/100 29,676
Ottt RENS =2 SELE(FLUEN)
40,000,000 +98.92/100 39,568
Ottt =&0t2 =2 SEH(FUE0)
80,000,000& *99.1/100 79,280
Ottt ME0IE s2 SEY(FEF0)
50,000,000& *98.92/100 49,460




M A4
HE: RN LA L (REUX SN/ NAUEAI)
&l A2 XSoHe CEEREE
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
OthtH RE S22 =2 ZE(FUF0])
30,000,000 *38.92/100 29,676
o245 A0/0t2 =2 HE(FLEN)
30,000,000 %38.92/100 29,676
OFITS 244 22 =2 HTH(FDIF0)
20,000,000 *38.92/100 19,784
O0&s LIS0e s& SEE(FLIEN)
26,000,000 *38.92/100 25,720
O0AES 422 L2 52 MWEFH(F2E0O)
30,000,000&*38.92/100 29,676
OF&s SH2HSA 212 52 ZH(FoE
o) 10,000,0002%98.92/100 9,892
O&d=s 1885 2 =2 HE(FLUEN)
40,000,000&%98.92/100 39,568
OMYUE Aot g3 PR =52 FHI(F2F01)
40,000,000&%98.92/100 39,568
ONYUS S5 =2 HH(FUHO)
20,000,000 *98.92/100 19,784
Oads 39 487 2 =2 ME(FLEN)
25,000,000 *98.92/100 24,730
OREs Ss0i2 =2 2% 2 tix=2 &
BI(FCI&0H) 50,000,000 *38.92/100 49,460
ORES 748X =2 =& L Hi+2 JI(
F0IE0]) 50,000,000 *38.92/100 49,460
ORESE 166K =58 SEIE L tieZ2 &
BI(Z=CIE0N) 50,000,000 %98.92/100 49,460
ORES SS0IE 52 HT(FUEHO)
30,000,000 *38.92/100 29,676
O3 280 =2 -
20,000,000 *98.92/100 19,784
O=sns =X0Is s28 Z&
20,000,000 *38.92/100 19,784
Os&M M3 =2 Z&
20,000,000 *38.92/100 19,784
O2&H X3ie| SANIE s2 Z&
20,000,000 *38.92/100 19,784
Os&Y JH&Eel ML =2 FH|
10,000,000& *38.92/100 9,892
O4actH Siiee| 270t =2 4
20,000,000 *38.92/100 19,784
OsteH Aol =2 SZ2E
30,000,000 *98.92/100 29,676
Ozt 2502 UH2Fe =2 JHl(&2
oehs-) 30,000,000 %98.92/100 29,676
Ot NAH0E s2 JUl(EUdi=E)
40,000,000&%98.92/100 39,568
Ot ZE0s =2 -
40,000,000&%98.92/100 39,568




2N:

rar=mnl

HE: RN LA L (REUX SN/ NAUEAI)
ool ADD X|of (9l &)
SN - FH . C(3) - MSAY - BAS Ofl bt e MimE=t)
Ot NEZDIS(MES22)s2 &l
15,000,000 98.92/100 14,838
O3zt AXOISE =2 F|
20,000,0002%98.92/100 19,784
Ostet A0S 52 I3
20,000,0002%98.92/100 19,784
O3}2H AZOIS =2 2T
15,000,000 *98.92/100 14,838
O3l H XIS =2 L&
20,000,0002%98.92/100 19,784
Ot g0t E s58 &
10,000,000 %98.92/100 9,892
OSdS 185788 K =2 =&
40,000,000& *x98.92/100 39,568
OSdE M4-18X| =2 &&
20,000,0002%98.92/100 19,784
O2&s M= s2 9
40,000,000 %x98.92/100 39,568
OBEs 208 s2 &2
40,000,000 *1A! 40,000
OActH HE2| 6516281 =2 23('43 S
L10IoH) 20,000,0002%98.92/100 19,784
OActH sde| 1568 =2 SR('UE 52
Ilal) 20,000,0002%98.92/100 19,784
OAcHH 242 MeER s2 2R ('4E S
L1lal) 10,000,000& =14 10,000
O3t IR IBHX s2 2R('44E 52
1loH) 30,000,0002%98.92/100 29,676
OzYH =X2| 1988258 K =2 =31('A4d
S<21lol) 30,000,0002%98.92/100 29,676
OS8E BRI s2 E32('24¢ s=216H)
10,000,000& * 14! 10,000
03 A& 2 CHHI 19,558 15,501 4,057
=2 AUl AIZL0H]
19,558,000 & * 14! 19,558
A2 AlE HH| 2,963,000 3,365,000 A402,000
305 Hiat=S 5,000 5,000 0
01 =S 5,000 5,000 0
QOIAIAS FA3 205,000 x 14! 205
O=JHal2 2,491,000& * 14! 2,491
OARBAL PH3 U a3
2,304,000 * 1A 2,304
401 A& HILE0HY] 2,958,000 3,360,000 402,000
01 Al&HI 2,933,816 3,328,410 A39%4,594
OARBAIE Mo & 2188
200,000,000 14! 200,000
OATE SSAIE OHFAIEE &X
50,000,000 14! 50,000




2N

rar=mnl

Ha: XL (SEUT SN/ N HUTA)
elr ARS X9ng EEREE
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
O0=8A & &l et £X
30,000,000& *14! 30,000
OAR2 AIE FHIAMY HAIEAHES
100,000,000 14 100,000
OSig F20t2 =2 FHI(F2E0)
20,000,000& +98.92/100 19,784
O=tts dF0t= 2t =2 FHl
20,000,000& +98.92/100 19,784
OAetH S44e| gH0tS =2 ZXI(F2
o) 20,000,000& *98.92/100 19,784
Oxcte tHE22| gl ED0IS ot EXI(F
DIZOY) 30,000, 0002!%98.92/ 100 29,676
Osctet dg6el B0 FX B4 (F0
&0d) 5,000,000& *98.92/100 4,946
OSEY trae| adtots =2 Fl(=2
o) 20,000,000& +98.92/100 19,784
OBED A42| 1280 L th42 &XI(F0
H0) 40,000,000 +98.92/100 39,568
Os&H &3l 402 =2 Zdl
20,000,000& +98.92/100 19,784
Oztere 410tE =2 FHI(FE0)
30,000,000& *98.92/100 29,676
Ozt 202 =2 FHI(FLEN)
40,000,000 +98.92/100 39,568
Ostard 4A0ts 2 FHI(FUEN)
30,000,000& +98.92/100 29,676
Ozt WEOE bBi+==2 JHI
20,000,000& *98.92/100 19,784
O3 OI0IS o2 U2 Bul(FIE
o) 20,000,000 *98.92/100 19,784
O3t at0E(201) 24 ZHI(=e&0
) 30,000,000 *98.92/100 29,676
Ottt JH0tS A=FHl & =2 &XI(
=QIEO) 30,000,000& *98.92/100 29,676
Ogd SXOt2 7 FHI(FeE0)
70,000,000& +99.10/100 69,370
Ooge FXote #H FHl(Feg0)
80,000,000& *99.10/100 79,280
O3tdA izl o40tS ti+=2 (=2
E={G)) 10,000,000 *98.92/100 9,892
O3tEE oXtel tis0ts =2 ZXI(=g
&0d) 30,000,000 *98.92/100 29,676
OafdtH =012 ot =2 JHI(FE
of) 100,000,000&*99.10/100 99,100
Ottatel HEDLE o2 =2 FHI(FRIE
o4) 40,000,000 *98.92/100 39,568
OfhbtH HELE &2 oHEL2E AX|(=8
&0d) 20,000,000 *98.92/100 19,784




2N:

rar=mnl

HE: RN LA L (REUX SN/ NAUEAI)
Bl ARR Xeng (Sl &2
SA - BB C(3H) - MSAY - BAS ofl kot e MimET}
O&itHE olM0S S22 HH|(F2IE
o) 100,000, 0002%99.10/100 99,100
OZ2S 38 UISEN 22(F0IH0)
30,000,0002+98.92/100 29,676
OFE2= 1E MEZ2Y AR HU|(FLI1EK)
15,000,000 %98.92/100 14,838
OF2E 32 == &l
10,000,0002!x98.92/100 9,892
OZE = 45 Ot EX AIE(FDEN)
30,000,0002%98.92/100 29,676
OUnE 4= OISOt Hi=2 Ha (=120
) 50,000,0002%98.92/100 49,460
O=2S 803281 K &2 2H SM(F2EN)
40,000,00024%98.92/100 39,568
Ogss M0 HE AX L ZA (=D
o) 20,000,0002%98.92/100 19,784
Ogss MZ0I2(28) X 014(F21EN)
10,000,000 %98.92/100 9,892
OUAES SHHE~ZR2E4L GBI X
U B B(FOIE0H)
100,000,0002%99.10/100 99,100
OSHS 8401252 ¥ BAF B4(F0
=20) 30,000,0002%98.92/100 29,676
ObtE = AZE HH422 HUY|(FPIEN)
30,000,0002%98.92/100 29,676
OtEE Qs =22 HH|(FLIEN)
60,000,0002%x99.10/100 59,460
ON=E= SA0S ofF HU|(FLIEN)
30,000,0002%98.92/100 29,676
OANEE SEZ =2 CHELZE AX(F=01&
o) 20,000,0002/%98.92/100 19,784
O = era0IS ti£=2 & Jal01ge & XI(
FOIEN) 72,000,0002%x99.10/100 71,352
OAE= Z&0IS =2 AXI(FeIEN)
26,000,0002%98.92/100 25,720
OFH=E olatlS = 524 SX(FRIEN)
20,000,0002%98.92/100 19,784
Oaldls o9 52l 4=t &XI(FCI&0)
100,000, 0002%99.10/100 99,100
OSE= 1185 U A= QU OFMURE HAX|(F
OIEN) 35,000,0002%98.92/100 34,622
Onldls 59 1162 U =2 &XI(FoI&
o) 40,000,000 %98.92/100 39,568
OREE 2UTOIS NAE2 A=F AX|(F=
OIEN) 130,000, 0002%99.28/100 129,064
OAetH 2422 oFEL2E AX|
30,000,0002%98.92/100 29,676
OACIH 2532| oA L2E AX|
20,000,0002%98.92/100 19,784




2N:

I‘IiH:

rar=mnl

KSOHLAHE (S EXXIAIHL/ X

0

IS Al

i

29 AA= XS (cHe): 2
SA - BB C(3H) - MSAY - BAS ofl kot e MimET}
OAetH AF232] =2 A
20,000,0002*x98.92/100 19,784
O3t ™ A0S Hi=2 &A-|
50,000,0002%98.92/100 49,460
OFUE 0l=Al ZEZ 1474 SHAK A
=8N 50,000,0002!%98.92/100 49,460
OEFs 38 # A4 &l
100,000,0002%99.10/100 99,100
OZg = disus & &1 &K
30,000,0002%98.92/100 29,676
O=s 18 &8X &Xl
50,000,0002%98.92/100 49,460
OLEsE ==x0I2 &t =2 FH|
50,000,0002!*x98.92/100 49,460
ORES S=0I2 =2 &4
30,000,0002%98.92/100 29,676
QII=EE25 ZSAESAIYE FHIHE ME)|
Al 148,380
oAt 12| OIsetd &2 2 &
30,000,000&!x98.92/100 29,676
o ACIH SA3E| DISEA B4
30,000,0002%98.92/100 29,676
o ACIH 2522 0t=0et2! |
30,000,0002%98.92/100 29,676
oAt 2512 02 &2 Z&
30,000,000&!*x98.92/100 29,676
oAt Al=12l StAE, HAZ2012 &AUZ bH
=Z HH| 30,000,0002%98.92/100 29,676
Og=H JIAR| 398X R E32('4E 52
1lal) 15,000,000 * 14! 15,000
OActH 252 14168 A 2H 2R('44E S
210 6H) 10,000,000& * 14! 10,000
OACHH AF=2| 12081X 2H 2R('44E 52
1loH) 15, 000,000%*153 15,000
OAetH SAte] 1660-72 X A ('4ad s
21loH) 20,000,00034*98.92/100 19,784
OActH &gak2| 321-13HX| Al 232('449 S
210 6H) 10,000,000& * 14! 10,000
OACIH 22| 133481 K| 2 3MA AH (
‘248 S 216H) 10,000,000%*153 10,000
OActH 24te] 1983218 X H =32('4d
S<1lol) 10,000,000& * 14! 10,000
OActH HE2| 145381K] 2H &= 232('A4
H S<Ilal) 10,000,000& * 14! 10,000
OACHH HEZ| AR A= 23('44E S
1K) 60,000,0002/%99.1/100 59,460
O3t &R2| 58X R E3R('4E 52
Ilal) 15,000,000& * 14! 15,000




2AM:
X ZH -
S=-

chel:

rar=mnl
KNSNLAHL (S EL RIS IHL/RSHLY
A8 Ko

SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
Ozttt sHe| 38518l =2 S7('244
SRIIH) 20,000,000 *98.92/100 19,784
OstetH S=e| 19882981 Xl 74 S7('244
S<0lah) 20,000,000 *98.92/100 19,784
OtlE s 573-381X 8e 572('2449 S<TldH)
10,000,000& * 14 10,000
Oatgs 1MMEX #H s573('248 S=1IaH)
10,000,000 * 14! 10,000
Oaas 185481K HYH S72('243 SIoH)
10,000,000& » 14 10,000
OSYs 3B28X 7 g =3('2448 5=
mlsh) 15,000,000 * 14 15,000
Osds 17518X #('244 SUI6H)
15,000,000 * 14! 15,000
03 Al 20HHI 24,184 31,590 NT,406
OA+2 A4 dHl Al 208l
24,184,000& x 14 24,184
Ot==l2 gl 878,371 910,000 A31,629
402 2IZtA=01A 878,371 910,000 A31,629
01 QI XS AL E R (K TH) 878,371 910,000 A31,629
O=tEY ot Olsa& A=
250,000,000& *14] 250,000
OStts 158 OS2 M=
200,000,000& x14] 200,000
OstE 2& Ot=a& &x
200,000,000 x 14 200,000
Odd &= sl c|2ed
50,000,000& *14! 50,000
Ostts &8 lisal2 2=
20,000,000& * 14| 20,000
OActH gee| lissla B
20,000,000& x 14 20,000
Ot s S& Otsal& 2=
20,000,000 * 14! 20,000
O=&Y =S4 U= 3 25
8,371,000& * 14 8,371
Ozt N Ot=3l2 2=
20,000,000 * 14 20,000
Osits &H s B
20,000,000 * 14! 20,000
O-d 9% Ot=22 c24d
50,000,000 * 14 50,000
Osts 28 =3 2=
20,000,000 x 14 20,000
Jl=XEfds & £Hd 29 16,996 16,132 864
201 et 3| 15,976 15,112 864
01 AtR2te|Hl 16,976 15,112 864
Oget=2| 400




ofl
i’
oF
uJ

1,020
1,020

ro[El=
ol &Y

1,800
1,800
1,800

6,958
6,958
6,958
5,298
5,298

400
7,800
7,800
4,800
3,000
7,776
1,020
1,020

660

200

7,776

0l &y

160
1,800
1,800
1,800
1,800
6,958
6,958
6,958
5,298
5,298
5,298

=l

3

5

=l

5

100,000 *4
100,000& x16E+3
100,000& x10E+3
9,000& 128 »72&
110,000 +3&*2

50,0003 x2H*2

-0 Hl
01 =LHOHI

202 O4H|

0
<+
o+
oD
0

3

1,800,000& 14

20,0003 »2&*4

S - B - SR(3) - NRAY - BES

RO

0
°

RO

OH
R0
0

u]

N,

1,836
1,836
1,836
1,836

232,008

1,660

1,660
93,918
11,672
11,672
11,672
11,672

4,770
528
1,660
1,660
220
1,440
61,910
13,508
13,508
13,508
13,508
13,508

5

g ¥=s M
200 *2,6400H
110,000 * 122

A
=20

gt
18, 7602 x2H+20A| 2t 12 *150%

b (21EH/ 18}

od

01 AFS2t2ltl
01 2LH0o4
HI (A

202 O4H|
101 e124d|




SN et
I NI AHI(HED)(DIEHIIE
&9l JI=3 EER=E))
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
=23l 48,402 82,246 A33,844
JlE234| 48,402 82,246 A33,844
201 Ler23| 31,167 65,011 A33,844
01 AtR22elt] 26,167 25,465 702
OYLBtLEH| ZoH A
11,182,000 & =14 11,182
OZ4ldl S &t 14,985,00021 14! 14,985
02 32| 5,000 39,546 A34,546
O=3R3(RHE2 BIER)
5,000,000 * 14| 5,000
202 O4H| 13,035 13,035
01 =2LHO4b] 13,035 13,035
ORA2E SUAL
13,035,000 * 14! 13,035
203 PRF=&Y| 4,200 4,200
M EAM2IHRFAH| 4,200 4,200
OAE D (22H) 350,000& =123 4,200




